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CRI1>-
Allen: GRANT SELECT, INSERT ON T1

TO Brown, Clark WITH GRANT OPTION:
Brown: GRANT SELECT, INSERT ON T1 TO Davis;
Allen: GRANT DELETE ON T1 TO Clark:
Allen: REVOKE INSERT ON T1 FROM Brown
I CASCADE:
Allen: REVOKE GRANT OPTION FOR SELECT
ON T1 FROM Clark:

@® Clark: GRANT DELETE ON T1 TO Brown:
@ Brown: INSERT INTO T1 VALUES (10, 20, 30):

® Davis: INSERT INTO T1 VALUES (10, 20, 30);
@ Clark: SELECT * FROM T1 WHERE C < 10:
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typedef struct {
intid: // 327 A%
char name[20]: // 17} o]&

char phone[15]: // 27} FUE W3

| int point; // I7e] H{3 ¥QIE

| } Client; // 224 dlolEl= datatxtel]l A= &

int main() {
Client client[100]:
FILE =*fp:
// 2 dole sdg I3 HolE o] Eo)7] |
fp = fopen(“data.txt”, “rw"):
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D (0 same="xim™(Student)) Wstuent dept id~deptid O buiding =2~ ( Dept))
@ O building ="F2 "( ( O name ="Kim" ( Studen t) ) Ms!.‘udent.dept_id =dept.id Dept)
@ Student Wstudent dept.id=dept.id (O name="Kim" A buiding ="F2" ( Dept) )
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SELECT Dnumber, COUNT{x)
FROM DEPARTMENT, EMPLOYEE
WHERE Dnumber = Dno AND Salary >= 40000 AND
Dno IN ( SELECT Dno
FROM EMPLOYEE
GROUP BY Dno
HAVING COUNT(*) >= 5)
GROUP BY Dnumber:;
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